PopmMynbl COKpaLleHHOoro
YMHOXEHMUAL.

ABTOpP: yuntenb matematunkmn MOY
COLL Ne 57 r.AcTpaxaHu

Kypuno M.C.




-yMMbI (pasHoCTH) OBYX
BblpaXXeHUMN:
(axb)?=a’+2ab+b?

Pa3HOCTb KBagpaToB OABYX
Bblpa)XXeHUWn:

a’-b**(a-b)(a+b)



CYMMbI (pa3HOCTU) ABYX
eHun:(atb)’=a%+2ab+b?
;“ ! 230
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25f2-20fz+427%=




Tb KBagpaToB ABYX
eHun:a%-b*(a-b)(a+b)

o

=4x°-16y’




1)(0,6a -0,1b)? =

=(0,6a)?-2*0,6a*0,1b+(0,1b)? =

0,12
= 0,36a2-‘b+0,01b2

2) (7x+3y)(7x-3y) =(3Y)*-(7X)* )=9%&A9y° - 49x° -9,

U/




€ B BUAE BblpaXEHUA:

HUe CyMMbI ABYX
BbIPpaXeHUn 2xuy Mh
° npoun3BefeHue pa3HOCTU OBYX
BblpaXeHun 3a u 5b n *
* KBagpaT CyYMMbI ABYX BbIpaXXeHUnN 7a U

b- ey
» Pa3HoCTb KBagpaToB -
5a U 3¢

* KBagpaT Pa3sHOCTY p,Byi (6b—2d)°







Te COOTBETCTBYHOLLYIO

X+4y
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. (8d-k)(8d+k)=Q
b-O,Za)=ﬂ ' ' "}
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